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39- He said that he...... the exams the week after.

1) had passed 2) would pass

3) has passed 4) will pass
40- She asked for a....... on her house.

1) valuation 2) values

3) value 4) valuable
41- | asked Ali why.......

1) is he absent 2) was he absent

3) he was absent 4) heis absent
42- You must perform the........... that has been imposed
upon you.

1) property  2) interference 3) interest 4) task
43- Mother felt....... when at last my father came home
that night.

1) relaxed 2) deadly

3) respectable 4) disappointed
44-Jack........... among hisfriends because of his
character.

1)stands out 2) srands up

3) comes up 4) brings up
45- My friend, Parviz, ........... on thisdifficult problem
since 8 o' clock.

1) had been working 2) isworking

3) was working 4) has been working
46- She's prevented from going to the park before
studying her lessonsand.........

1) soam| 2) | havetoo

3) I’'m not either 4) so have
47-“1" m not sure why Ali is absent” .

1) could have over slept 2) might have overslept

3) might over sleep 4) could over sleep
48- Theteacher was very upset because most of the
students had........... alot of mistakes.

1) made 2) been 3) done 4) acted
49- “What are those men doing in your garden?”
“Oh, I’'m having a swimming pooal............ "

1) building 2) build
3) to build 4) built
50- Theplane........... had it not been too foggy.
1) could take off 2) might have taken off
3) would take off 4) will have taken off
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